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Ans X 1. 3856
X 2. 2905
X 3. 7682
¥ 4 3756

Q.1  The marked price of a jacket is T1,050. The shopkeeper earns a profit of 25%0 even after giving a discount of 10%. At
what cost did the shopkeeper purchase it?

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

75189711755
75189747019
75189747018
75189747020
75189747017
Answered

4
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from the statements,

Statements:

1. All mirrors are cupboards.
2. Some beds are almirahs.

3. Some almirahs are mirrors.

Conclusions:

I-Some beds are cupboards,

T-Some cuphoards are almirahs.
Ans X 1. Both conclusions I and II follow.

X 2. Only conclusion I follows.

« 3. Only conclusion II follows.

< 4. Neither conclusion I nor IT follows.

Q.2 Read the given statements and conclusions carefully. Assaming that the information given in the statements i3 true, even
if it appears to be at variance with commonty known facts, decide which of the given conclusions logically follow(s)

Chosen Option :

Question ID : 75189711240
Option 1 ID : 75189744959
Option 2 ID : 75189744957
Option 3 ID : 75189744958
Option 4 ID : 75189744960
Status : Answered
Chosen Option : 3
Q.3  Inwhich of the following animals does blood go only once through the heart during one eyele of passage through the
body?
Ans X 1. Reptiles
X 2. Birds
X 3. Mammals
+ 4. Fishes
Question ID : 75189710206
Option 1 ID : 75189740824
Option 2 ID : 75189740821
Option 3 ID : 75189740823
Option 4 ID : 75189740822
Status : Marked For Review
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and the fourth mumber is related to the third oumber.

1321795 192371 22652

Q.4  Select the option that is related to the fifth number in the same way as the second number is related to the first number

Ans X 1. 734
X2 726
X 3 530
« 4 0686
Question ID : 75189711671
Option 1 ID : 75189746684
Option 2 ID : 75189746681
Option 3 ID : 75189746683
Option 4 ID : 75189746682
Status : Answered
Chosen Option : 4
Q.5 In which city of India will you find Shri Lal Bahadur Shastri Rashtriya Sanskrit Vidyapeetha?
Ans X 1. Mumbai
X 2 Agra
+ 3. New Delhi
X 4. Bengaluru
Question ID : 75189712367
Option 1 ID : 75189749467
Option 2 ID : 75189749465
Option 3 ID : 75189749468
Option 4 ID : 75189749466
Status : Marked For Review
Chosen Option : 3
Q.6 Suppose ina circuit, a silver wire of length L and cross-sectional area A (s replaced by a chromium wirs of length L/3
and cross-sectional area 3A. The resistance of the circuit will
(Given that pey = 16X 1078 O m and g, 0miwm = 12.9% 1075 0 m)
Ans 1. decrease to 0.89 times of itself
X 2. decrease to 0.78 times of itself
# 3. increase to 1.3 times of itself
X 4. increase to 1.05 times of itself
Question ID : 75189711329
Option 1 ID : 75189745316
Option 2 ID : 75189745315
Option 3 ID : 75189745313
Option 4 ID : 75189745314
Status : Answered

Chosen Option : 1
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Q.7

Ans

As of JTanuary 2022, which enterprise became India’s first Unicorn sports Enterprise?
A 1. Gujarat Giants

A 2. Patna Pirates

+ 3 Chennai Super Kings

A 4 Dabang Delhi

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

: 7518973752
Option 11D :

75189715008

: 75189715007
: 75189715006
: 75189715005
: Answered

Chosen Option :

3

Ans

@8 YWhich of the following rivers flows from east to west?

+ 1. Narmada
# 2. Mahanadi
# 3. Krishna

X 4. Godavari

Question ID
Option 1 ID
Option 2D :
Option 3 ID
Option 4 ID
Status :

Chosen Option :

1 75189712156
: 75189748621

75189748623

1 75189748624
1 75189748622

Answered
1
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O garee R ¥ fgee $r gefeaw R w2
X 1. 8T &7 (Landfills)

X 2. AEMETRI HieaaquT (Ocean dumping)

« 5 STEARIUT/SETAT (Incineration)

Ans

X 4 FHAIEE T (Composting)

Question ID : 7518974481
Option 1 ID : 75189717923
Option 2 ID : 75189717921
Option 3 ID : 75189717924
Option 4 ID : 75189717922
Status : Answered
Chosen Option : 1
Q.10 Which of the following statements regarding the trend of metallic properties in the modern periodic table is correct?
Ans o 1.
Metallic character decreases across a period and increases down a group.
X 2
Metallic character decreases across a period and remains constant down a group.
X 3.
Metallic character increases across a period and decreases down a group.
< 4.
Metallic character remains constant across a period and increases down a group.
Question ID : 75189711935
Option 1 ID : 75189747739
Option 2 ID : 75189747740
Option 3 ID : 75189747738
Option 4 ID : 75189747737
Status : Answered
Chosen Option : 1
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Q.11  Study the given line graph and answer the following question.

The given line graph depicts the mumber of umbrellas and raincoats sold by shops X, Y and Z.

R
$ Nl Y
2, x N
:, N
k) ]
=
£
= n
X Y

Shops

b LT DOF OF GMOrElias e AumDer of rincoats

What is the respective ratio between the number of umbrellas sold by shop X and the total number of raincoats sold by

shops Y and Z7
Ans  X'1.1:5
X2 2:3
w3 1:3
X4 2:5
Question ID : 75189711676
Option 1 ID : 75189746703
Option 2 ID : 75189746702
Option 3 ID : 75189746704
Option 4 ID : 75189746701
Status : Answered
Chosen Option : 3
Q.12 Which of the following terms describes the movement of water molecules across a selectively permeable membrane?
Ans 1. Osmosis
X 2. Diffusion
X 3. Exocytosis
~ 4. Translocation
Question ID : 7518977789
Option 1 ID : 75189731156
Option 2 ID : 75189731153
Option 3 ID : 75189731155
Option 4 ID : 75189731154
Status : Marked For Review
Chosen Option : 1
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1,1,2,4,3.27,4,256,5,7

Q.13 Which of the following numbers will replace the question mark (?) in the given series?

Ans 1. 3125
X 2. 15625
X 3. 625
X4 125
Question ID : 75189711600
Option 1 ID : 75189746399
Option 2 ID : 75189746400
Option 3 ID : 75189746398
Option 4 ID : 75189746397
Status : Answered
Chosen Option : 1
Q.14 Study the given tahle and answer the question that follows.
The table shows the total income in % and expenditure of five different families under different heads as a percentage of
the total income.
Family | Total Income (in ) | Daily Usage | Health Care | Medical | Other Expenses
A 50,000 15% 18% 1004 7%
B 65,000 20% 14% 8% 8%
C 33,000 18% 20% 8% 14%
D 55,000 25% 10% 11% 4%
E 90,000 30% 20% 1204 8%a
Find the total amount of saving (in ¥) of all the families combined.
Savings = Total Income — Sum of all expenditures
Ans  X'1.1,76,200
2. 1,25.200
<3 1.19.700
X 4.1.00,300
Question ID : 75189711083
Option 1 ID : 75189744332
Option 2 ID : 75189744330
Option 3 ID : 75189744331
Option 4 ID : 75189744329
Status : Answered
Chosen Option : 2
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Q.15 If the length of a diagonal of a square is 18 cm, then its perimeter (in cm) is
36.7

36

24.7

24

Ans

&1
X2
< 3.
x4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189711983
75189747931
75189747930
75189747929
75189747932
Answered

1

following option is NOT correct:

Ans X 1. The green wire is for earth pin connection

X< 2. A fuse should be connected in the live wire
# 3. The neutral wire is coloured Black

« 4. The appropriate value of fuse to be used is 12 A

Q.16 A XKW AC is to bs used ona 250 V a.c. mains for which a 3-pin top plug fitted to a cable is required. Which of the

Question ID : 75189712235
Option 1 ID : 75189748939
Option 2 ID : 75189748938
Option 3 ID : 75189748937
Option 4 ID : 75189748940
Status : Answered
Chosen Option : 3
Q.17  ABCD is a quadrilateral and E. F. G. and H are the mid-points of AB. BC, CD. and DA respectively. The
quadrilateral EFGH is necessarily a:
Ans 1. parallelogram
/< 2. square
X 3. rhombus, but not a square
X 4. rectangle, but not a square
Question ID : 75189711827
Option 1 ID : 75189747308
Option 2 ID : 75189747306
Option 3 ID : 75189747307
Option 4 ID : 75189747305
Status : Answered

Chosen Option : 4
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Q.18

The 56 National Cross Country Championships 2022 was organised at which place?

Ans X 1. Chandigarh
+ 2. Kohima
X 3. Panaji
# 4. Ranchi
Question ID : 75189712336
Option 1 ID : 75189749343
Option 2 ID : 75189749341
Option 3 ID : 75189749342
Option 4 ID : 75189749344
Status : Answered
Chosen Option : 2
Q.19 v aw = AgHT UE 9 garar o ¥, foruer &=we 1089 cm? El 3 A F @es o Age TF
HTOT AT S §, FrE FaE 40 cm §| =7 AT $r =iEE A fifEw
Ans X122 cm
X211 cm
3 26 cm
X4 6 cm
Question ID : 75189712004
Option 1 ID : 75189748013
Option 2 ID : 75189748015
Option 3 ID : 75189748016
Option 4 ID : 75189748014
Status : Answered
Chosen Option : 3
Q.20 Mohit starts from a point X and travels 2 km towards the north and takes a right i and fucther travels 1 km. He then
mms to the right and travels a distance of 3 km. He then takes a right turn and travels a distance of | km, and finally
mms to the right again and travels a distance of 1 km. What is the present location of Mohit in respect of his point of
initiation of travel, X7 (All turns are 90 degree turns only)
Ans 1. Point X itself
# 2. 1 km east
# 3. 1 km north
& 4.1 km south
Question ID : 75189711576
Option 1 ID : 75189746303
Option 2 ID : 75189746304
Option 3 ID : 75189746302
Option 4 ID : 75189746301
Status : Answered
Chosen Option : 1
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Q.21 In macroeconomic analysis, a consumption function describes the relation between total consumption and

Ans

X 1. quality of the consumption good
X 2. price of the consumption good
« 3. gross national income

X< 4. behaviour of the consumer

Question ID : 75189712381
Option 1 ID : 75189749523
Option 2 ID : 75189749521
Option 3 ID : 75189749522
Option 4 ID : 75189749524
Status : Answered
Chosen Option : 2
Q.22 The diagonal of a rectangle is 26 cm. Its perimeter is 68 cm. Find its area.
AN 1240 em?
X 2. 550 cm?
X3 120 cm?
X4 330 cm?
Question ID : 75189711744
Option 1 ID : 75189746975
Option 2 ID : 75189746974
Option 3 ID : 75189746973
Option 4 ID : 75189746976
Status : Answered
Chosen Option : 1
Q.23 What approximate value should come in place of the question mark (?) in the following equation?
15.09 -899+26.02 x6.99="7
Ans X 1. 190
« 2. 188
<3 187
X4 186
Question ID : 75189710939
Option 1 ID : 75189743756
Option 2 ID : 75189743755
Option 3 ID : 75189743754
Option 4 ID : 75189743753
Status : Answered
Chosen Option : 2
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Q.24 The cost of one kg sugar in 2020 was F46. If the cost of sugar increased by 2.5% in one year, how much would 5 kg

sugar cost in 20217

Ans X 1. 348.50
X 2. ¥253.50
X 3. Z47.15
o 4. 2235.75
Question ID : 75189712020
Option 1 ID : 75189748080
Option 2 ID : 75189748077
Option 3 ID : 75189748079
Option 4 ID : 75189748078
Status : Answered
Chosen Option : 4
Q.25 1f 128 is divided into two parts such that one part is three times the other, then the larger part is
Ans X1 Q4
« 2. 06
X 3. 104
x4 02
Question ID : 75189711966
Option 1 ID : 75189747862
Option 2 ID : 75189747864
Option 3 ID : 75189747863
Option 4 ID : 75189747861
Status : Answered
Chosen Option : 2
Q.26 Study the given letter. number. symbol series and answer the question that follows.
(Lef) A9 % B @GS &L#KO@7#6KM* 7 & B (Right)
How many such letters are there that are immediately preceded by a symbol and also immediately followed by a
number?
Ans X' 1. 4
21
X3 2
X4 5
Question ID : 75189711029
Option 1 ID : 75189744114
Option 2 ID : 75189744113
Option 3 ID : 75189744116
Option 4 ID : 75189744115
Status : Answered
Chosen Option : 2
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Q.27 Each vowel in the word PRISON is changed to the letter preceding it in the English alphabetical order and each

consonant is changed to the letter following it in the English alphabetical order. Which of the following letters will be

fourth from the right in the group of letters thus formed?

Ans X 1. Q
X2 N
X3 T
4 H
Question ID : 75189711684
Option 1 ID : 75189746733
Option 2 ID : 75189746735
Option 3 ID : 75189746736
Option 4 ID : 75189746734
Status : Answered
Chosen Option : 4
Q.28 Select the option that is related to the fifth number in the same way as the second number is related to the first mmber
and the fourth number is related to the third number.
(MOTE: Operations should be performed on the whole numbers, without breaking down the numbers info its constimuent
digits. EXANMPLE: 13 — Operations on 13 such as adding/subtracting/multiplying etc. to 13 can be performed. Breaking
down L3 into | and 3 and then performing mathematical operations on 1 and 3 is not allowed)
2781301607
Ans 1. 21
X2 20
X3 22
<419
Question ID : 75189711615
Option 1 ID : 75189746459
Option 2 ID : 75189746458
Option 3 ID : 75189746460
Option 4 ID : 75189746457
Status : Answered
Chosen Option : 1
Q.29 If in each of the following words, each letrer is changed to the next letter in the English alphabetical order, how many
words thus formed will have NO vowel?
1) TOGETHER
2)BOXES
3) SPORTS
4) DRINK
Ans 1. One
X 2. Three
X 3. Two
X 4. Four
Question ID : 75189711554
Option 1 ID : 75189746213
Option 2 ID : 75189746215
Option 3 ID : 75189746214
Option 4 ID : 75189746216
Status : Answered
Chosen Option : 1
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Ans

X 1. Vessels
« 2. Collenchyma

& 3. Tracheids

X 4. Parenchyma

Q.30 Which of the following types of cells are NOT a part of vascular tissue in plants?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

75189710069
75189740274
75189740275
75189740273
75189740276

Not Attempted and
" Marked For Review

Chosen Option :

Ans

& 1. 1 October 1947
X 2. 2 January 1948

X 3. 28 February 1948
« 4. 26 November 1947

Q.31 When was independent India’s first Union Budget presented in the Parliament?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status
Chosen Option

75189712391
75189749561
75189749563
75189749564
75189749562

: Answered
14

Ans

v sect A

x2gec* A+ tan* A

X3 gec® A
x4 sect A

** The value of tan® 4 + 3tanZ Asec? A + 1 is:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189711830
75189747319
75189747320
75189747318
75189747317
Answered

1
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Ans

X 1. Chennai
« 2. New Delhi
< 3. Bhubaneswar

X 4. Varanasi

Q.33 In June 2022, Polyversity. India’s largest educational Metaverse with over 100 academic partners was launched by the
Union Minister Sri Dharmendra Pradhan in which city?

Question ID : 7518976788
Option 1 ID : 75189727149
Option 2 ID : 75189727152
Option 3 ID : 75189727151
Option 4 ID : 75189727150
Status : Answered
Chosen Option : 2
Q.34 select the option that is related to the fifth term in the same way as the fourth term is related to the third term and the
second term is related to the first term.
MOTHER : OMHTRE :: DAUGHTER : ADGUTHRE :: SIBLINGS : ?
Ans X 1. BISNILSG
« 2. ISLBNISG
X 3. SGNILBIS
X 4. LBISSGNI
Question ID : 7518979769
Option 1 ID : 75189739074
Option 2 ID : 75189739076
Option 3 ID : 75189739073
Option 4 ID : 75189739075
Status : Answered
Chosen Option : 2
Q.35 1Inacertain code language, DTHEM ' is written as 'EVEKOR' and “WHITE' is written as *XJLXT", How will '"GREEN"
be written in that language?
Ans X 1. HTIHS
« 2. HTHIS
X 3. HTHHT
& 4. HTHHS
Question ID : 75189710868
Option 1 ID : 75189743471
Option 2 ID : 75189743470
Option 3 ID : 75189743472
Option 4 ID : 75189743469
Status : Answered
Chosen Option : 2
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Q.36 .
Ifa+ b+ c = 0, then the roots of the equation ax 2+bx +c =0 are:
Ans c
1.1, —
a
x2 2,°
a
-
~<3 —1,—
a
c
~<4 -2, -
a
Question ID : 75189711798
Option 1 ID : 75189747192
Option 2 ID : 75189747190
Option 3 ID : 75189747191
Option 4 ID : 75189747189
Status : Answered
Chosen Option : 1
Q.37 e Fua 3w 3@F A€ & T | 3R Rw A U # & T FFFA F T A gU RER F
&7 &1 98 AT A9 9 ¥ e gdg @ @, 3t gaw & fw aw Tt F ¥ wF @, Roee
FUT FT qTRF T T AT FI &7
FUT:
TR F HO T A el F afeqan g &g e grt w sdeT G, e a9 § 38 Hed o
s
L W # Aoy R & weft A age & e §
I wafr ofr Ryorelr & ot off S9eoT @t wier gt & et 7 F)
Ans
X 1. Faer Ty | 99T FAT E
X2 sy | 3 1| @t g Fa #
3. Faer =Y || 9o FAT 7
Xegareasy | it T &Il oo a1 &
Question ID : 75189711705
Option 1 ID : 75189746817
Option 2 ID : 75189746820
Option 3 ID : 75189746818
Option 4 ID : 75189746819
Status : Answered
Chosen Option : 3
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immediately after the Lucknow lecture.

Which city has the last lecture in the vear?
Ans X 1. Kakinada

X 2. Chandigarh

« 3. Bilaspur

« 4. Madurai

Q.38 Six national mathematics lectures are planned on the eve of Mathematics Day in six cities - Madurai, Dwaraka,
Kakinada, Chandigarh, Lucknow and Bilaspur - on different months between July to December in the same vear (but
not necessarily in the same order). Only the Dwaraka lecture is planned between the Chandigarh and Bilaspur lecturss.
The Chandigarh lecture is in October. Only two lectures are planned before the Kakinada lecture. The Madurai lecture is

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

75189711455
75189745819
75189745818
75189745817
75189745820

Not Attempted and
Marked For Review

based on the given statement?
Statement: 0> S<R>T=U<}V
Conclusions: LT=¥

NR=U

Ans X 1. Both conclusions I and II are true

X 2. Only conclusion I is true

& 3. Weither conclusion I nor II is true

« 4. Only conclusion 1I is true

Q.39 Inthe following question, the statement is followed by two conclusions. Which of the two conclusion(s) is/are true

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518977627
75189730507
75189730505
75189730508
75189730506
Answered

3
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w4 &7
A x 1. faafaaT (Pneumonia)
v 2. TIHE-TSH (HIV-AIDS)

X 3. ZrEwEs (Typhoid)
x 4. gmeh (Gonorrhoea)

Q40 B & T By o7 F oY 37 39S oAl IFAUT ¥ o7& o uTar ¥, e g vhafde g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189710229
75189740914
75189740915
75189740913
75189740916

Marked For Review

2

Q.41

Ans X 1. CaCl,
« 2. CaOCl,
x 3. CaCO,
X 4. Ca(OH),

Bleaching powder is represented as:

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

7518979650

75189738599
75189738600
75189738597
75189738598

Not Attempted and
Marked For Review

Ans X 1. principal axis

X 2. centre of curvature
X 3. optical centre

« 4. principal focus

Q.42 When a ray is incident parallel to the principal axis of a convex lens then the refracted ray will pass through:

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :

Status :

7518979511
75189738042
75189738043
75189738041
75189738044
Answered

Chosen Option : 4
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Q.43 what is the molecular formula of second member of alkene series?

Ans o 1. C3Hﬁ
72 CgHyp
< 3. 'C4H3
X 4. CzH,q_
Question ID : 75189710323
Option 1 ID : 75189741290
Option 2 ID : 75189741292
Option 3 ID : 75189741291
Option 4 ID : 75189741289
Status : Answered
Chosen Option : 4
Q.44 The ratio of marks obtained by Aand B is 3 : 4 and of those obtained by B and C is 2 : 3. What is ratio of marks
obtained by Aand C?
Ans 1 2.1
X2 1:1
3 1:2
X4 4:3
Question ID : 75189711736
Option 1 ID : 75189746942
Option 2 ID : 75189746943
Option 3 ID : 75189746941
Option 4 ID : 75189746944
Status : Answered
Chosen Option : 3
Q.45 A light ray rravels from air into an oprical fibre with an index of refracrion of 1.45. If the angle of ineidence on the end
of the fibre is 22°, the angle of refraction inside the fibre is:
Ans  x1.20.99°
X2 22.69°
« 3. 14.99°
X 4 2569°
Question ID : 75189711277
Option 1 ID : 75189745105
Option 2 ID : 75189745108
Option 3 ID : 75189745106
Option 4 ID : 75189745107
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Ans

X1.321
2

x2 33

»» 331
3

x4 32

Q.46 Oune-third of a certain journey is covered at a speed of 25 lan'h, one-fourth of the journey is coversd at a speed of 30
kiv'h and the rest of the journey is covered at 50 kiv'h. The average speed (in kin'h) of the whole journey is:

Question ID : 75189711765
Option 1 ID : 75189747059
Option 2 ID : 75189747058
Option 3 ID : 75189747057
Option 4 ID : 75189747060
Status : Answered
Chosen Option : 3
Q.47 Study the given letter, number, svmbol series and answer the question that follows.
(Lefl) T2L %4 M2#BN@SK#B 6L *3 P (Right)
How many such numbers are there that are immediately preceded by a symbol and also immediately followed by a
letter?
Ans 21 3
X2 4
<3 2
P |
Question ID : 75189711031
Option 1 ID : 75189744124
Option 2 ID : 75189744121
Option 3 ID : 75189744122
Option 4 ID : 75189744123
Status : Answered
Chosen Option : 1
Q.48 Which of the following festivals is NOT celebrated in January every year?
Ans X 1. Lohri
+ 2. Onam
X 3. Bhogali Bihu
X 4. Pongal
Question ID : 75189712127
Option 1 ID : 75189748505
Option 2 ID : 75189748508
Option 3 ID : 75189748507
Option 4 ID : 75189748506
Status : Marked For Review

Chosen Option : 4
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Q.49 Amongstsix people. D, E, F. G, H, and 1. 2ach has a different age. Thay are standing in a line according to their age in
an increasing order. F is older than E but younger than D. D is yvounger than I E is older than G. G is elder than H. Who

comes in 4T position in inereasing order of age ?

Ans 1 F
X2 H
X3 1
X4 E
Question ID : 75189711014
Option 1 ID : 75189744055
Option 2 ID : 75189744056
Option 3 ID : 75189744053
Option 4 ID : 75189744054
Status : Answered
Chosen Option : 1
Q.50 . .
Simplify
—2 —4
1\z . (1\3 _o
512 64
Ans 2
K1 -
3
_ 3
X2 -
4
1
o 3. —
4
_ 1
X4 —-
6
Question ID : 75189711710
Option 1 ID : 75189746839
Option 2 ID : 75189746837
Option 3 ID : 75189746838
Option 4 ID : 75189746840
Status : Answered
Chosen Option : 3
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Ans

1n its capital citv?

« 1. Jammu and Kashmir
< 2. Maharashtra

& 3. Uttar Pradesh

X 4. West Bengal

Q.51 InFebruary 2022, which state/UT’s police launched two women's squads for ensuring the safety and security of women

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
: Answered

Status

Chosen Option :

75189712352
75189749406
75189749407
75189749408
75189749405

1

Q.52 Which of the following Constitution Amendment Act of India is related to the urban local bodies?

Ans o 1. 74th
~ 2. ?3rd
< 3. ?Sth
< 4. ?znd
Question ID : 75189712429
Option 1 ID : 75189749715
Option 2 ID : 75189749714
Option 3 ID : 75189749716
Option 4 ID : 75189749713
. Not Attempted and
g Marked For Review
Chosen Option : --
Q.53 = . B . .
Express 5.7 in = form, where p and q are integers and q # 0.
q
Ans 5 2
X1 —
52
&2 2
37
~<3 —
10
57
X4
7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189712008
75189748030
75189748032
75189748029
75189748031
Answered

2
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Ans

X1 —4
X2 0
3 64
X4 16

Q.54 For the equation (x + 4) (x — 4) = 0, the value of the discriminant is equal to

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 75189711975

: 75189747898

: 75189747897

: 75189747900

: 75189747899

: Marked For Review
1

Ans

<1,
5 2.
¢ 3.
X< 4.

M2
M4
M3
M1

Q.55 Which of the following measures is considered the most commonly used measure of money supply?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

7518977232

75189728926
75189728928
75189728927
75189728925

Not Attempted and
Marked For Review

Ans

146, 150, 147, 143, 158, 139, 154, 149, 151, 155
X1 148.2 mm
<2 151.9 mm
X3 139.6 mm
« 4 1492 mm

Q.56 Find the mean length of a leaf, given the lengths of 10 leaves (in mm) are as follows:

Chosen Option

Question ID :
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID :

Status :

75189712054

: 75189748216
: 75189748214
: 75189748215

75189748213
Answered

14

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Ad

dal2417

GET IT ON
Google Play

7S
\
-~

Singers

“9||¢ 'C:Z,-\Ciurs

How many Men are Actors but NOT Singers?
Ans 1 g

x23

X3 26

x4 11

The numbers in different sections indicate the number of people.

Q.57 study the given diagram carefully and answer the question that follows.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

75189711006
75189744021
75189744023
75189744024
75189744022
Answered

1

Ans

x.(x+y+2z)2—y2
x2(x+y+2z)2—x2
vi(x+y+2z)2—2z2
xe(x—y+2z)2—2z2

x4+ y+22)(Xx + V) can be expressed as:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

75189711776
75189747103
75189747104
75189747101
75189747102
Answered

3
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Thursday. On which of the days will D have his exam?

Ans X 1. Thursday
« 2. Saturday
X 3. Friday
X 4. Tuesday

Q.59 Sevenswmidents, A, B, C, D, E, F, and G, have exams on different days of a week starting from Monday and ending on
Sunday of the same wealk. The exam of € is on Sunday and that of F is on Monday. The exam of G is on Tuesday. The
exam of B is on the immediate next day of the exam of G. The exam of E is immediately after A. The exam of A is on

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189710980
75189743920
75189743919
75189743918
75189743917
Answered

2

Ans 1. 50 m, West
X 2. 56 m, North
+ 3. 6 m, North

Q.60 Ram walks 40 m towards east and then turns left and walks 56 m. From that point. he starts walking towards the west
and walks 20 m. After taking a left turn, he walks 50 m and then takes a right b and walks 20 m. How far and in
which direction is Ram’s current position from his starting point? (All turns are 90 degree turns only. )

Chosen Option :

X 4. 4 m, South
Question ID : 75189711060
Option 1 ID : 75189744237
Option 2 ID : 75189744238
Option 3 ID : 75189744240
Option 4 ID : 75189744239
Status : Answered
Chosen Option : 3
Q61 Chandoli National Park is located in which state?
Ans 1. Maharashtra
& 2. Uttar Pradesh
# 3. Himachal Pradesh
x4 Kerala
Question ID : 75189710585
Option 1 ID : 75189742338
Option 2 ID : 75189742337
Option 3 ID : 75189742339
Option 4 ID : 75189742340
Status : Marked For Review

3
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Q.62 In which year was the partition of Bengal announced by Lord Curzon, the then Viceroy of India?

Ans X 1. 1907
<2 1911
« 3. 1905
< 41909
Question ID : 7518979372
Option 1 ID : 75189737486
Option 2 ID : 75189737488
Option 3 ID : 75189737485
Option 4 ID : 75189737487
Status : Answered
Chosen Option : 3
Q63 Why do fats in diet form large globules in the small intestine?
Ans X 1.
Because fats get trapped in fibrous carbohydrates during food churning in the stomach
< 2.
Because proteins and fats clump together to produce colloidal matter
&3
Because fats do not mix well with watery slurry produced in the stomach
< 4.
Because lipase enzymes in the stomach do not digest fats completely
Question ID : 75189712266
Option 1 ID : 75189749064
Option 2 ID : 75189749063
Option 3 ID : 75189749061
Option 4 ID : 75189749062
. Not Attempted and
piaus : Marked For Review
Chosen Option : --

Ans

X 1. centre of curvature

« 2. principal focus

X 3. infinity

X 4. pole

Q.64 A point on the principal axis which is equidistant from the curved surface of a spherical mirror is:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

7518979468
75189737870
75189737869
75189737872
75189737871
Answered

Chosen Option : 1
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Q.65 Ina certain code language, ‘BULK’ is written as ‘CWOO' and “PINK is written as ‘QKQO". How will ‘BLUE" be
written in that language?
Ans X 1. CNXIJ
X 2. CMXI
< 3. CNWI
o 4 CNXI
Question ID : 7518977996
Option 1 ID : 75189731983
Option 2 ID : 75189731981
Option 3 ID : 75189731982
Option 4 ID : 75189731984
Status : Answered
Chosen Option : 4
Q.66 Which of the following numbers will replace the question mark (?) in the given series?
10, 21, 38, 62,94, 7
Ans 1. 135
X2 155
X3 104
X4 72
Question ID : 75189710918
Option 1 ID : 75189743672
Option 2 ID : 75189743671
Option 3 ID : 75189743670
Option 4 ID : 75189743669
Status : Answered
Chosen Option : 1
Q.67 Which of the following colloids has solid dispersed phase in a liquid dispersing medium?
Ans 1. Sol
X 2 Gel
# 3. Emulsion
< 4. Foam
Question ID : 75189710313
Option 1 1D : 75189741251
Option 2 ID : 75189741250
Option 3 ID : 75189741249
Option 4 ID : 75189741252
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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tor oceurring of rambow consists of:

< 1.

Ans

X 2. Reflection only
X 3. Refraction only

+ 4. A combination of refraction, scattering and dispersion

Q.68 A rainbow is formed by water droplets suspended in the atmosphere after the rain shower. The phenomenon responsible

A combination of refraction, dispersion and total internal reflection

Chosen Option :

Question ID : 75189712230
Option 1 ID : 75189748919
Option 2 ID : 75189748917
Option 3 ID : 75189748918
Option 4 ID : 75189748920
Status : Answered
Chosen Option : 4
Q.69 + : C
TIHTRET (HIV) & FHfAT g d 97 37 HAgeaqor g2
Ans ¢ :
X 1. Fifes sH% FILOT HIfAF TeITETT BT ¢
5 2.
FIfe TS T=Tg ¥ T TXAR F WHATSF Fgshr gam &
X Faits TF FE-Rar ¥ g== & $oar ¢
v 4 FhIe TIHRET (HIV) FT FIe 3991 F6r &
Question ID : 75189712285
Option 1 ID : 75189749138
Option 2 ID : 75189749140
Option 3 ID : 75189749139
Option 4 ID : 75189749137
Status : Marked For Review
Chosen Option : 4
Q.70 68 iz divided into three parts. When the first part is increased by 2, the second part is diminished by 2 and the third part
is divided by 2. the resultant nmumbers all become equal. Find the value of the third part.
Ans #1134
X2 68
<3 19
X4 15
Question ID : 75189711782
Option 1 ID : 75189747128
Option 2 ID : 75189747125
Option 3 ID : 75189747126
Option 4 ID : 75189747127
Status : Answered

1
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atomic mass?

Ans X 1. Atomic density

X 2. Atomic size
« 3. Atomic number

X 4. Atomic radii

Q.71 According to Henry Moseley, which of the following properties of an element is a more fondamental property than its

Question ID : 75189710390
Option 1 ID : 75189741559
Option 2 ID : 75189741557
Option 3 ID : 75189741558
Option 4 ID : 75189741560
Status : Marked For Review
Chosen Option : 3
Q.72 What will come in the place of *?* in the following equation, if “+' and * - * are interchanged and also *=* and =" are
interchanged?
G0-7256+15+3=1
Ans 1. 27
K2 32
<3 64
x4 25
Question ID : 75189710958
Option 1 ID : 75189743830
Option 2 ID : 75189743831
Option 3 ID : 75189743832
Option 4 ID : 75189743829
Status : Answered
Chosen Option : 1
Q73 INaOH(aq) + H,S0,(aq) = Na,SOy(aq) + 2H,0(1)
The given reaction is an example of:
Ans X 1. decomposition reaction
X 2. precipitation reaction
X 3. redox reaction
+ 4. neutralisation reaction
Question ID : 75189711882
Option 1 ID : 75189747525
Option 2 ID : 75189747526
Option 3 ID : 75189747527
Option 4 ID : 75189747528
Status : Marked For Review

Chosen Option : 2
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Q.74 Inthe second and latest edition of the India Innovation Index 2020 which state oceupies a top position under the “Major

States” category?

Ans 1. Karnataka
& 2. Maharashtra

X 3. Telangana

& 4. Tamil Nadu

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 75189712347
: 75189749386
: 75189749385
: 75189749388
: 75189749387
: Marked For Review
Chosen Option :

1

Q.75 Which of the following options is the closest approximate value which will come in place of question mark(?) in the

following equation?

1599 -402+ 1989 % 5.19="7

Ans 1. 112
X2 222
<3 50
X4 75
Question ID : 7518979875
Option 1 ID : 75189739497
Option 2 ID : 75189739499
Option 3 ID : 75189739500
Option 4 ID : 75189739498
Status : Answered
Chosen Option : 1
Q.76 According to the Government Budget 2022. a taxpayer can now file updated income tax return within for
correcting errors.
Ans 1. 3 years
X 2. 5 years
« 3. 2 years
X 4 1 year
Question ID : 75189710459
Option 1 ID : 75189741835
Option 2 ID : 75189741836
Option 3 ID : 75189741834
Option 4 ID : 75189741833
. Not Attempted and
Status - Marked For Review
Chosen Option : --
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« 1. Oxidation reaction
& 2. Reduction reaction

X 3. Double displacement reaction

X 4. Displacement reaction

Q.77 Burning of magnesium in the pressnce of air produces magnesium oxide. Seleet the type of reaction involved.
Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189711887
75189747546
75189747545
75189747548
75189747547

1

Marked For Review

Ans

20217
& 1. Dr. Prakash Varma
X 2. Dr. Ashok Gupta

+ 3 Dr. Amit Singh
X 4. Dr. Sanjay Mathur

Q.78 Who among the following was one of the recipients of Shanti Swarup Bhatnagar Prize for science and technology

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189710514
75189742056
75189742054
75189742053
75189742055

Marked For Review

4

Ans

Q79 Which of the following rivers merges in the Arabian Sea?

X 1. Teesta

X 2. Krishna
+ 3. Narmada
X 4. Kaveri

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

7518978915
75189735659
75189735657
75189735658
75189735660
Answered

3
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Q.80 grpfer TEMET F TAT ITUET (sustainable use) H P F TR F AU TR T A T FF @

FEH 3T TFaT &7

A v 29 iR Tm Famat @ T

X 2. gETS SETSAT ¥ I 9T wiaE
X 3. gararer A & T Fr HEAIT FEr
X4 TOERT W 9er@l T Ifaey

Question ID : 75189712331
Option 1 ID : 75189749323
Option 2 ID : 75189749321
Option 3 ID : 75189749324
Option 4 ID : 75189749322
Status : Answered
Chosen Option : 3
Q.81 The resistivity of the material of wire having resistance 0.7 Q. length 1 m and diameter 0.2 mm is:
Ans
v 1 22x% 108 Qm
X2 22x 108 Qm
%3 022x 108 Qm
X4 220% 10° Qm
Question ID : 75189711156
Option 1 ID : 75189744624
Option 2 ID : 75189744622
Option 3 ID : 75189744621
Option 4 ID : 75189744623
Status : Answered
Chosen Option : 1
Q.82 Eightstudems, P, Q. R, 8. T. U. V and W, are sitting around a square table facing the centre of the rable (but not
necessarily in the same order). Some of them are sitting at the corners, while some are sitting at the exact centre of the
sides. S s sitting to the immediate left of U. R is sitting fourth to the right of S, Q is an immediate neighbour of R and
V, who is sitting third to the left of T. W is sitting second to the right of T,
Who is an immediate neighbour of T and W?
Ans X1 g
X2 R
&3 P
X4 Q
Question ID : 75189711427
Option 1 ID : 75189745708
Option 2 ID : 75189745705
Option 3 ID : 75189745706
Option 4 ID : 75189745707
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.83 Fmu=r it g, 3EH IF A I Fr AT T §1 SEE T g, sEE IF A g W 3 AY wa g1 afy 3
aY 93, 3 AT H A F AT 63 AT o, A TS H FIAA FY (@ FH) A Hiew|

Ans x 1. 36
<2 30
¥ 3 45
x4 42
Question ID : 75189710005
Option 1 ID : 75189740018
Option 2 ID : 75189740019
Option 3 ID : 75189740017
Option 4 ID : 75189740020
Status : Answered
Chosen Option : 3
Q.84 Three statements are given followed by three conclusions numbersd 1. IT and I11. Assuming the statements to be true.
even if they seem to be at variance with comunonly known facts, decide
which of the conclusions logically follow(s) from the statements,
Statements:
All jewelleries are ormaments.
Some flowers are omaments.
All plants are flowers.
Conclusions:
L All plants are jewelleries.
II. Some ornaments are jewelleries.
HI. Some flowers are plants.
Ans X 1. Only conclusions I and II follow
X 2. Only conclusion IIT follows
« 3. Only conclusions IT and III follow
X 4. Only conclusions I and III follow
Question ID : 75189711682
Option 1 ID : 75189746725
Option 2 ID : 75189746728
Option 3 ID : 75189746727
Option 4 ID : 75189746726
Status : Answered
Chosen Option : 3
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Q.85 Which of the following is not the property of ionic compounds?

(i) Tonic compounds have low melting and boiling points.
{ii)  Toniec compounds are generally soluble in water and insoluble in solvent such as kerosene. petrol etc,

(iii)  Ionie componnds are solids and are somewhat hard becanse of the strong force of attraction befween the

positive and negative ions.

(iv) Tonic compounds conduct electricity in the molten state.
Ans X' 1. ii
X2 ij
&3
X4 vy

Question ID : 7518973688

Option 11D : 75189714751
Option 2 ID : 75189714750
Option 3 ID : 75189714752
Option 4 ID : 75189714749

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.86 Under the provisions of which Article of the Indian Constitution is the President empowered to constitute a Finance
Commission at the expiration of every fifth vear or at such earlier time as the President considers necessary?

Ans X 1. Article 282
« 2. Article 280
# 3. Article 283
X 4 Article 281

Question ID : 75189712423
Option 1 ID : 75189749691
Option 2 ID : 75189749689
Option 3 ID : 75189749692
Option 4 ID : 75189749690

Status : Not Attempted and
" Marked For Review

Chosen Option : --
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Q.87 |5 articles are sold at the total cost price of 20 articles. The gain or loss per cent is:

Ans

&1 33&% gain

X 2 33%% loss

X 3. 20% loss
X 4. 20% gain

GET IT ON
Google Play

Question ID : 75189711750
Option 1 ID : 75189746997
Option 2 ID : 75189746998
Option 3 ID : 75189747000
Option 4 ID : 75189746999
Status : Answered
Chosen Option : 1
Q.88 Which of the following terms will replace the question mark (?) in the given series to make it logically complete?
VZLI15, TXII8, ENH2I, PTF24.7
Ans X 1. LMN27
X 2. DRN27
¥ 2 NRD27
X 4. RND27
Question ID : 7518979835
Option 1 ID : 75189739340
Option 2 ID : 75189739339
Option 3 ID : 75189739337
Option 4 ID : 75189739338
Status : Answered
Chosen Option : 3
Q.89 Due 1w decrease in manpower, the production in a factory decreases by 30%, By what per cent should the working hours
be increazed to restore the original produetion?
Ans X1 4204
(51
2 42 = %
K3 43%
x4 41%
Question ID : 75189711732
Option 1 ID : 75189746928
Option 2 ID : 75189746926
Option 3 ID : 75189746927
Option 4 ID : 75189746925
Status : Answered
Chosen Option : 2
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Q.90 Which Arricles of the Indian Constitution has provisions about the Fundamental Rights in the Constimion?
Ans X 1. Articles 52 to 78
« 2. Articles 12 to 35
# 3. Articles 5to 11
2 4. Articles 36 to 51
Question ID : 75189712421
Option 1 ID : 75189749684
Option 2 ID : 75189749682
Option 3 ID : 75189749681
Option 4 ID : 75189749683
Status : Answered
Chosen Option : 2
Q.91 Find the smallest natural number which, when divided by 9, 24 and 12, leaves a remainder 4 in each case but when
divided by 5 leaves no remainder.
Ans 1. 220
X2 144
X3 150
X 4 148
Question ID : 75189711728
Option 1 ID : 75189746911
Option 2 ID : 75189746912
Option 3 ID : 75189746909
Option 4 ID : 75189746910
Status : Answered
Chosen Option : 1
Q.92 L :
afees Tt & AR, TARHA v = Foar?
Ans X 1. STIOT
v 2 SITETET/ @A
X3 T TIAEH
K4 greer
Question ID : 75189712153
Option 1 ID : 75189748612
Option 2 ID : 75189748609
Option 3 ID : 75189748610
Option 4 ID : 75189748611
Status : Marked For Review
Chosen Option : 3
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Q.93 Ifthe diagonals of a quadrilateral bisect each other at right angles, then the quadrilateral is a:

Ans X 1. rectangle
X 2. frapezium

+ 3. rhombus

X 4. parallelogram

Question ID : 75189711826
Option 1 ID : 75189747301
Option 2 ID : 75189747304
Option 3 ID : 75189747303
Option 4 ID : 75189747302
Status : Answered
Chosen Option : 1
Q94 Find the LCM of 550, 880 and 1320.
Ans 21 13200
< 2. 10800
< 3. 12300
< 4. 11000
Question ID : 75189712015
Option 1 ID : 75189748059
Option 2 ID : 75189748057
Option 3 ID : 75189748058
Option 4 ID : 75189748060
Status : Answered
Chosen Option : 1
Q.95 The correct relation between the radius of curvature R and focal length f for a spherical mirror is:
Ans R
o1 — =
2
X2 R = i
2
X3R=Ff
1 2
K4 —
R f
Question ID : 7518979486
Option 1 ID : 75189737943
Option 2 ID : 75189737941
Option 3 ID : 75189737942
Option 4 ID : 75189737944
Status : Answered
Chosen Option : 1
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Q.96 w= it s gETE #, TT U UF S F 3eaT # AT gw wF 3§ e, B s e s

=ty Tt o 3 ¥ AR HqfEE & 9F AR Ted v W 3 ) ofEe, e § O 3R T wue
T ¥ ¥ et AT S & 99 FEw U UaT £ ST ¥ o 3R FIE U a7 dor ¥ ofy ifRm & e

=T T A AT §, o Fo feow tee 35 B

Ans x 1. -] 3
v 215
X3 11
X412
Question ID : 75189711462
Option 1 ID : 75189745845
Option 2 ID : 75189745848
Option 3 ID : 75189745847
Option 4 ID : 75189745846
Status : Answered
Chosen Option : 2
Q.97 3 w=faar - ofdy, a6 3y, vy, AfEEh, goman, & i Aifta v Tew A F ofE: AW F &
#r T gE WF ¥ § (g 3T = w9 F T sy A ¥ A ¥ 5o F= e | oAd
SR FT AT g F I ST A S | A, TR s i s e W A §, S g F
e HT Sy TE W § A, g & 9 #R ZEt T WOadr §1 e, 9 s ot & S
T # ¥ &1 3, GAr F O w3 AW A5 R, S Wy F S aE v A g
THA & & T 3K =i & 37
Ans :
v oy
X 2. HIU
]
X3 Afgar
x4 Sty
Question ID : 75189711430
Option 1 ID : 75189745717
Option 2 ID : 75189745719
Option 3 ID : 75189745720
Option 4 ID : 75189745718
Status : Answered
Chosen Option : 1
Q.98 Which of the following quantities affects the electrical resistivity of a given metallic wire?
Ans X 1. Thickness of the wire
« 2. Nature of the material of the wire
X 3. Shape of the wire
# 4 Number of turns of the wire
Question ID : 75189711312
Option 1 ID : 75189745245
Option 2 ID : 75189745247
Option 3 ID : 75189745246
Option 4 ID : 75189745248
Status : Answered
Chosen Option : 2
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Q.99 The ratio of the volumes of two cylinders A and B having the radii of their bases as 2 cm and 3 cm. respectively, and
having the same height, is:

Ans XK' 1.2:3
X2 3:2
3. 4:9
X49:4
Question ID : 75189711811
Option 1 ID : 75189747243
Option 2 ID : 75189747244
Option 3 ID : 75189747241
Option 4 ID : 75189747242
Status : Answered
Chosen Option : 3
Q.100 A train 400 m long travelling at a speed of 64 km/h crosses another train 720 m long moving in the opposite direction at
a speed of 80 kin/h. How much time does the second train take to cross a man sitting in the first train?
Ans 1. 18 sec
X 2. 16 sec
X< 3 12sec
X 4. 15 sec
Question ID : 75189712045
Option 1 ID : 75189748180
Option 2 ID : 75189748179
Option 3 ID : 75189748177
Option 4 ID : 75189748178
Status : Answered
Chosen Option : 1
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